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1. 
A.   
B.   
C.   
D.   

A B C D A B C D
a) 2 4 1 3 b) 3 4 1 2
c) 2 1 3 4 d) 1 4 2 3
e) 

2.    

a) 
b) 
c) 
d) 
e) 

3.  
   

a)  b) 
c)  d) 
e) 

4. 
a) 
b) 
c) 
d) 
e) 

5. 
a)  b) 
c)  d) 
e) 

6. “”

a)  b) 
c)  d) 
e) 

7. 


a) 
b) 

c) 
d) 
e) 

8. 
a) 
b) 
c) 
d) 
e) 

9. 
a)  b) 

c)  d) 

e) 

10. “”  



a)  b) 

c)  d) 

e) 

11. 

a)  b) 

c)  d) 

e) 

12.    



a)  b) 

c)  d) 

e) 

13.  



a)  b) 

c)  d) 

e) 

14. 







   

a) 

b) 

c) 

d) 
e) 


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15.    

a) Emblem  
b) Thesis  
c) Intellectual  
d) Symbolism  
e) 

16. 

a)  b) 
c)  d) 
e) 

17. 
  

a)   
b)   
c)   
d)   
e) 

18. 
a)  b) 
c)  d) 
e) 

19. 
a) b) 
c)  d) 
e)

20. “” 

a)  b) 
c)  d) 
e) 

21. “”
a)  b) 
c)  d) 
e) 

22. 

a)  b) 
c)  d) 
e) 

23. 
 
a)  b) 
c)  d) 
e) 

24. 
“”
a) 
b) 
c) 
d) 
e) 

25. 


a) 
b) 
c) 
d) 
e) 

26. 
 
 
 
a)  b) 
c)  d) 
e) 

27.      

a)  b) 
c)  d) 
e) 

28.    

a)  b) 
c)  d) 
e) 

29. 
 

a)  b) 
c)  d) 
e) 

30. 
   


a) 
b) 
c) 
d) 
e) 
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31. 
    

a)  b) 
c)  d) 
e) 

32. 
 

A.   


B.  
C.   


D.   

A B C D A B C D
a) 4 3 2 1 b) 4 3 1 2
c) 3 4 1 2 d) 3 4 2 1
e) 

33. ‘
’
a) 
b) 
c) 
d) 
e) 

34. ‘’
a) 
b) 
c) 
d) 
e) 

35. ‘’ 

a) 
b) 
c) 
d) 
e) 

36. 
A.   
B.   
C.   
D.   

A B C D A B C D
a) 2 1 3 4 b) 1 2 4 3
c) 4 3 1 2 d) 2 1 4 3
e) 

37. ‘’
a)  b) 
c)  d) 
e) 

38. ‘’



a)  b) 

c)  d) 

e) 

39. ‘  

’

a)  b) 

c)  d) 

e) 

40. 

a)  b) 

c)  d) 

e) 

41. ‘’



a)  b) 

c)  d) 

e) 

42. ‘’

a)  b) 

c)  d) 

e) 

43. ‘  ’  



a)  b) 

c)  d) 

e) 

44. ‘

 

’

a)  b) 

c)  d) 

e) 

45. ‘’



a)  b) 

c)  d) 

e) 
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46. ‘ ’  

   


a) 34 b) 24 c) 44 d) 42
e) 

47. ‘
’

a)  b) 
c)  d) 
e) 

48. ‘’

a)  b) 
c)  d) 
e) 

49. ‘’ 

a)  b) 
c)  d) 
e) 

50. 
a) 
b) 
c) 
d) 
e) 

51.  ‘’

a) 2005 b) 2004 c) 2003 d) 2006
e) 

52. 


a)  b) 
c)  d) 
e) 

53. 

a)  b) 
c)  d) 
e) 

54. ‘  
’
a)  b) 
c)  d) 
e) 

55. 
a)  b) 
c)  d) 
e) 

56. 
A.   
B.   
C.   
D.   

A B C D A B C D
a) 4 2 3 1 b) 4 3 1 2
c) 3 1 2 4 d) 1 2 3 4
e) 

57. 

a) 
b) 
c) 
d) 
e) 

58.    

a) 
b) 
c) 
d) 
e) 

59. 
a) 
b) 
c) 
d) 
e) 

60. 
a)  b) 
c)  d) 
e) 

61. 

a)  b) 
c)  d) 
e) 

62. ‘  ’ 

a)  b) 
c)  d) 
e) 
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63.    ‘’  

a)  b) 
c)  d) 
e) 

64. 

a)  b) 
c)  d) 
e) 

65. 
a)  b) 
c)  d) 
e) 

66. 
a)  b) 
c)  d) 
e) 

67.  
  
a) 
b) 
c) 
d) 
e) 

68. 
a)  b) 
c)  d) 
e) 

69. 


a)  b) 
c)  d) 
e) 

70. ‘
’

a) 
b) 
c) 
d) 
e) 

71.   

a) 
b) 

c) 
d) 
e) 

72. 
 
A.   
B.   
C.   
D.   

A B C D A B C D
a) 3 1 2 4 b) 4 2 3 1
c) 4 3 2 1 d) 2 4 3 1
e) 

73.  ‘ 
’
a) 
b) 
c) 
d) 
e) 

74. 

a)  b) 
c)  d) 
e) 

75.   

a)  b) 
c)  d) 
e) 

76. “”
    

a) 
b) 
c) 
d) 
e) 

77. 
a)  b) 
c)  d) 
e) 

78.    

a) 2012 b) 2013 c) 2014 d) 2015
e) 



THOOTHUKUDI  99445 11344  |  TIRUNELVELI  98942 41422  |  RAMANATHAPURAM  75503 52916  |  MADURAI  98431 105666

79. “” 


a)  b) 

c)  d) 

e) 

80. “

”

a)  b) 

c)  d) 

e) 

81. 

A.   

B.   

C.   

D.   

A B C D A B C D

a) 3 4 1 2 b) 2 1 4 3

c) 3 1 4 2 d) 4 1 2 3

e) 

82.    



a)  b) 

c)  d) 

e) 

83. “”

a)  b) 

c)  d) 

e) 

84.    



a)  b) 

c)  d) 

e) 

85. “”

a)  b) 

c)  d) 

e) 

86. 

a)  b) 

c)  d) 

e) 

87. 



a)  b) 

c)  d) 
e) 

88. “” 


a)  b) 

c)  d) 

e) 

89.     



a) 

b) 

c) 

d) 

e) 

90. “”

a)  b) 

c)  d) 

e) 

91. “”



a) 1930 b) 1927 c) 1931 d) 1935

e) 

92.    

 



a)  b) 

c)  d) 

e) 

93. ‘’
a) 

b) 

c) 

d) 

e) 

94. ‘Bio diversity’ - 



a)  b) 

c)  d) 

e) 

95. “”  



a)  b) 

c)  d) 

e) 
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96. 

a) 
b) 
c) 
d) 
e) 

97. ‘
’

a)  b) 
c)  d) 
e) 

98. ‘’

a)  b) 
c)  d) 
e) 

99. 
a)  b) 
c)  d) 
e) 

100.   

a)  b) 
c)  d) 
e) 

PART - A

1. Match the Following:
A. Ground floor 1. Offense
B. luggage 2. Ist Floor
C. Film 3. Baggage
D. Offence 4. Movie

A B C D A B C D
a) 2 3 4 1 b) 3 4 1 2
c) 4 2 1 3 d) 1 2 4 3
e) Answer not known

2. Sentence Pattern.
he is a professor with a lot of experience.
a) SVCA b) SVCO
c) SACV d) SVC
e) Answer not known

3. Find odd one out:-
a) The court declared him innolent
b) They named the child siva
c) Ravi’s parents made him a dancer
d) He gave dresses to all poor children
e) Answer not known

4. Who said?
“If non violence is the law of our being, the
future is with women”
a) Gandhi b) Nehru
c) Ambedkar d) Boss
e) Answer not known

5. Fill in the blanks:-
If you were really study you _______ (dis-
turb)
a) would not be disturbed
b) would be disturbed

c) will be distributed

d) will not be distributed

e) Answer not known

6. ______ the differences, the two leaders

show hands and smiled as each other.

a) Despite b) Though

c) although d) still

e) Answer not known

7. Leaving us stranded in the civilasation of

Nill.

Synonym for underlined word.

a) Confused

b) embarassed

c) rendered unable to move futher

d) delighted

e) Answer not known

8. Prefix  (match it):

inhabited - pan

act - contra

Indicate - un

Indian - counter

A B C D A B C D

a) 3 4 2 1 b) 4 2 1 3

c) 3 1 2 4 d) 1 2 3 4

e) Answer not known
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9. Suffix.

manage - let

Magic - lity

Visible - al

Book - ment

A B C D A B C D

a) 3 2 4 1 b) 1 2 4 3

c) 2 3 1 4 d) 4 3 2 1

e) Answer not known

10. Compound word - Preposition + Noun

a) Upstream b) Schoolgirl

c) Daytoday d) Duty free

e) Answer not known

11. Reported speech

Tourist guide said “Give me your camera

and stand still”.

a) The guide asked to give him his camara

and stand still.

b) The guide asked to give me his camera

and stand still

c) The guide asked to give him my camera

and stand still

d) The guide asked to give him my  camera

and standed still

e) Answer not known

12. Reported speech:-

The minister said, “i will not apolagise to

anyone for this”.

a) The minister told that he would not

apologise to no one for that.

b) The minister told that he would not

apologise to any one for that

c) The minister told that he would not

apologise to any one for this.

d) The minister told that he will not

apologise to any one for this.

e) Answer not known

13. The police tried to _______ information

from the bootlegger who sells _______ li-

quor. (illicit/elicit)

a) illicit b) elicit

c) both (a) and (b) d) (a) or (b)

e) Answer not known

14. Who said, “don’t ask for it unless you want
it, Peter”?
a) Aunt polly b) Huke
c) Tom d) The author
e) Answer not known

15. In the poem “Making life worth while”
A _______ is need for the darkening sky
a) One gleam of faith
b) idea c) knowledge
d) love e) Answer not known

16. What is the meaning of mirth?
a) laughter
b) away from correct path
c) small piece
d) none
e) Answer not known

17. The poem “A thing of Beauty” is based on
a) Greek Shepherd
b) latin, Shepherd
c) Indian Shepherd
d) Australian shepherd
e) Answer not known

18. “Will keep a bower quiet for us” means
______
a) will give us peace and calm
b) will stop unpleasant sound
c) make our beds fit to sleep
d) reduces noise
e) Answer not known

19. Who was the moom Goddess?
a) Synthia b) Cynthia
c) Eden d) Adam
e) Answer not known

20. The sun, moon, trees, old and young are the
things that _____.
a) depress us
b) remove the pall of gloom from our live
c) makes us laugh
d) gives us oxygen
e) Answer not known

21. What are the preventing of soil erosion?
a) Terracing of land
b) construction of bunds to check the flow

of water
c) Practice of contour cultivation
d) all the above
e) Answer not known
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22. Water in a landscape may be compared to
the ____ in a human.
a) Breath b) Blood
c) eyes d) Nerve
e) Answer not known

23. In the poem “The stick together families”

where do the gladdest people gather?
a) at the park b) at the fireside
c) at the village d) at the mall
e) Answer not known

24. In the poem “The stick together families”
what can break the gladdest folks unity?

a) Death b) Exam
c) Journey d) Distance
e) Answer not known

25. Who advised Arun don’t talk with strang-
ers?
a) Arun’s mother b) Sathish’s mother

c) Arun’s father d) Sathish
e) Answer not known

26. Identify the speaker/ character
Are you all alone, my som
a) the woman b) Arun’s mom
c) sathish mom d) Arun’s teacher

e) Answer not known
27. Voice: The policemen stop every car at this

junction.
a) Every car is stopped by the policemen

at this junction
b) Every car is stopped by the policemen

in the junction
c) Every car are stopped by the policemen

in the junction
d) Every car was stopped by the policemen

in the junction
e) Answer not known

28. Question Tag
She can paint well _____ ?
a) can’t she b) can she
c) will she d) must she
e) Answer not known

29. One ______ always keep his promises

a) Must b) May
c) Can d) Might
e) Answer not known

30. _______ I inform him about this?

a) Need b) Will

c) Would d) Used to

e) Answer not known

31. Match it:

A. take off - 1. did as a routine

B. take over - 2. to remove

C. went about - 3. assume charge

A B C A B C

a) 2 3 1 b) 2 1 3

c) 1 2 3 d) 1 3 2

e) Answer not known

32. Remember brothers walk upon is earth like

this”

a) simile b) metaphor

c) Alliteration d) Paradox

e) Answer not known

33. Remember, no men are strange, no coun-

tries foreign

a) simile b) Metaphor

c) Repetition d) Alliteration

e) Answer not known

34. Remember they have eyes like ours that

wake

a) simile b) metaphor

c) Paradox d) Onomatopoeia

e) Answer not known

35. His cupboard was empty and winter was

come

a) Personification

b) simile c) metaphor

d) Alliteration e) Answer not known

36. Find out Rhyme scheme.

“Not a crumb to be found

On the snow-covered ground

Not a flower could he see

Not a leaf on a tree”

a) aabb b) abab

c) abba d) abac

e) Answer not known

37. We ants never borrow; we ants never lend

a) Simile b) Metaphor

c) personification d) Alliteration

e) Answer not known
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38. Not hurrying to nor turning from the goal;

Not mourning for the things that disappear

a) simile b) Alliteration

c) personification d) Anaphora

e) Answer not known

39. Find out the Rhyme scheme:

Some water, coal and oil is all we ask

And a thousandth of an inch to give us play

And now if you will set us to our task

We will serve you four and twenty hours a

day

a) Hyperbole b) Assonance

c) Metaphor d) Alliteration

e) Answer not known

40. We were taken from the ore-bed and the

mine, we were melted in the furnace and

the pit

a) simile b) Anaphora

c) Alliteration d) Metaphor

e) Answer not known

41. Though our smoke may hide the Heavens

from your eyes

a) Simile b) Metaphor

c) Connotation d) Hyperbole

e) Answer not known

42. We can neither love nor pity nor forgive

a) Repetition b) Anaphora

c) Mimile d) Metaphor

e) Answer not known

43. The criminal ________ the place before the

police reached

a) was escaping b) had escaped

c) is escaping d) will escape

e) Answer not known

44. Find  out the error:

Taj Mahal is one of the wonder of the world

    A           B               C                         D

a) A b) B c) C d) D

e) Answer not known

45. Who was the step father of Isaac ?

a) Duke b) Industrialist

c) owner of the mill d) clergyman

e) Answer not known

46. Find out the error:

This bag is too heavy for lift
     A           B              C
a) A b) B c) C d) D
e) Answer not known

47. Find out the error:
He gave me an one - rupee note
A      B     C                   D
a) A b) B c) C d) D
e) Answer not known

48. Where does the river spend its younger days?
a) Through rocks b) through flowers
c) into ocean d) into sea

e) Answer not known
49. Find out the error:

Sitting near the window and he saw the
crowd
     A                B                      C               D
a) A b) B c) C d) D
e) Answer not known

50. In the poem “The stick together families”
Where do the gladdest people gather?

a) at the park b) at the fireside

c) at the village d) at the mall

e) Answer not known

51. By next year, I ______in chennai for fifteen
years. (live)

a) have been lived b) will have lived

c) will live d) is living

e) Answer not known

52. “There are rich and poor folk, who imagine
thy are wise,

And they’re very quick to shatter all the
little family ties”

What do the rich and poor folk imagine
themselves

a) wise b) rich

c) poor d) confident

e) Answer not known

53. Choose the correct synonyms for the un-
derlined words

Nice fun indeed.

a) infact b) doubtedly

c) fine d) none

e) Answer not known
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54. Directions : Find out the type of sentence

Night came on and rain fell heavily and we
all got very wet.

a) simple b) compound

c) complex d) none of these

e) Answer not known

55. Directions : Find out the type of sentence

With a great effort he lifted the box

a) simple b) compound

c) complex d) none of these

e) Answer not known

56. Match the underlined words under Column
‘A’ with their grammatical function under
Column ‘B’ and select the correct code.

Column A          Column B
A. Equal status to 1. Adverb

women is a far cry
B. The two live the 2. Adjective

same life
C. Let us hope for 3. Noun

the best
D. She sings well 4. Verb

A B C D A B C D
a) 2  1  3 4 b) 3 1 2 4
c) 2 3 4 1 d) 4 1 2 3
e) Answer not known

57. Find the odd one of the following words.
a) honour b) wonderful
c) brave d) excellent
e) Answer not known

58. Find out the verb from the following
a) proud b) clean
c) wiser d) election
e) Answer not known

59. Find out the Odd Word
a) Often b) Always
c) Along d) Busy
e) Answer not known

60. In New York Mr Scotti left the plane because
he thought he
a) had to change the plane.
b) was in Rome.
c) had to phone his cousins.
d) had to look at the airport.

e) Answer not known

61. On the next day, Mr Scotti was __________

at how the local people responded to his

queries.

a) surprised b) unhappy

c) glad d) upset

e) Answer not known

62. Select the correct sentence:

a) Cakes are softer than cookies

b) Cakes are more soft than cookies

c) Cakes are softer then cookies

d) Cakes are soft than cookies

e) Answer not known

63. Complete the sentence : No other girl in the

class is ______ Kamala.

a) most clever as b) more clever as

c) as clever as d) most cleverest

e) Answer not known

64. Pulse + Quasar

a) Pulsar b) Pulse Quasar

c) Quasars d) Qualse

e) Answer not known

65. Form a new word by blending the words

Splash+ sputter

a) Splutter b) Splatter

c) Platter d) None

e) Answer not known

66. Spanish + English

a) Spanglish b) Sapnish

c) Spangle d) Spang

e) Answer not known

67. Synonyms of gobbled

a) Hate b) Grudge

c) Ate hastily or greedily

d) Find e) Answer not known

68. Hellen keller father ______.

a) Arthur. H. Keller b) Art Keller

c) Arter Keller d) Heart Keller

e) Answer not known

69. Black + board

a) Noun +Noun b) Adjective +Noun

c) Adverb + Noun d) Verb + Noun

e) Answer not known
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70. Teach it in accents ______and______

a) Harsh, mild b) Harsh, loud

c) Soft, loud d) Soft, mild

e) Answer not known

71. Kalpana was Assigned in STS - 87 columbia

in 1996 as a ________.

a) Mission specialist b) Mission Head

c) Captain d) Protector

e) Answer not known

72. Pick out British word for American word.

Bonnet.

a) Bayonet b) Hood

c) Engine d) Suspension

e) Answer not known

73. Miniature paintings depict Indian culture.

(Synonyms)

a) warp b) portray

c) twist d) falsify

e) Answer not known

74. Synonyms of whetted

a) Angry b) Blunt

c) Heavy d) Sharpened

e) Answer not known

75. Cumulative conjunctions

a) And b) Also

c) As well as d) All the above

e) Answer not known

76. Choice conjunctions

a) or b) or else

c) otherwise d) All the above

e) Answer not known

77. The painting is done by me

a) Subjective Pronoun

b) Objective Pronoun

c) Possessive Adjective

d) Possessive Pronoun

e) Answer not known

78. He called them

a) Subjective Pronoun

b) Objective Pronoun

c) Possessive Adjective

d) Possessive Pronoun

e) Answer not known

79. When Koushik was a child, he ________ play

in the street.

a) won’t b) must

c) used to d) will

e) Answer not known

80. Synonym of Clamber

a) Walk in an awkward way

b) move in an awkward way

c) Walk ina pleasant way

d) Jump in a pleasant way

e) Answer not known

81. When was Robert Louis Balfour Stevenson

born on?

a) 16 Nov 1852 b) 14 Nov 1851

c) 13 Nov 1850 d) 15 Oct 1850

e) Answer not known

82. Lincoln Born Feb 12, ______.

a) 1809 b) 1810 c) 1811 d) 1812

e) Answer not known

83. I make the feet dusty______.

a) Summer b) Winter

c) Fall d) Rainy

e) Answer not known

84. His mother was fired at on a timbered hill-

side facing _____river.

a) Nile b) Chilkat

c) Ganges d) Alpes

e) Answer not known

85. Identify the correct sentence for the pattern

SVCA

a) I gave him a pen last week

b) He became a doctor at last

c) He made his views clear at the outset

d) You will understand the truth one day

e) Answer not known

86. Match the underlined words in Column A

with their parts of speech in Column B and

select the correct answer from the options

given below:
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Column A Column B

A. He walks quickly 1. Subject

B. Reena taught 2. Object

him Hindi

C. Rani ate ice cream 3. Verb

D. Radha is a doctor 4. Compliment

A B C D A B C D

a) 3 1 2 4 b) 1 2 3 4

c) 4 1 2 3 d) 2 1 4 3

e) Answer not known

87. It is good to eat Orange ______also

a) Peal b) Peales

c) peels d) None

e) Answer not known

88. She held the _______in her hand

a) reigns b) rains

c) reins d) raigns

e) Answer not known

89. Fill in the blank with appropriate homo-
phones.

You can trust Rob, He’s a man of _____

a) prinicipal b) principle

c) preposition d) position

e) Answer not known

90. The little dog shivered by the door and let
out a _____

a) wine b) whine

c) win d) won

e) Answer not known

91. “Says he, “The mystery I’ve found
Says he, “The mystery I’ve found

What kind of figure of speech obtained in
this lines?

a) Repetition b) Oxymoron
c) Simile d) Synecdoche
e) Answer not known

92. Synonym of pigtail
a) Un braid
b) A plaited lock of hair worn singly at the

back
c) Un twist

d) Straighten
e) Answer not known

93. “Asia is the largest continent”
Balu said that ______ continent.
a) Asia is the largest
b) Asia was the largest

c) Asia were the largest
d) Asia has the largest
e) Answer not known

94. “I have been watching a film.” He said that
_______ a film.
a) he had been watching

b) he have been watching
c) he has been watching
d) he having been watching
e) Answer not known

95. Norman little ford died in _____ 1947.

a) May 18 b) May 19

c) May 20 d) May 21

e) Answer not known

96. Robert Frost realistic descriptions _____.

a) city life b) of rural life

c) cultural life d) Fragment of life

e) Answer not known

97. Henry Van Dyke was died in  _____

a) 1933 b) 1934 c) 1935 d) 1932

e) Answer not known

98. Edgar Albert Guest poems often had an in-
spirational and _____of every day life.

a) Optimistic view b) Pessimistic view

c) Routine view d) Hard view

e) Answer not known

99. Sir Arthur Ignatius Conan Doyle died in
______.

a) 1928 b) 1929 c) 1930 d) 1931
e) Answer not known

100.Nathaniel Hawthorne was born in July 4,
_____.

a) 1803 b) 1804 c) 1805 d) 1806
e) Answer not known
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101. Who implemented Poondi Drinking Water
Reservoir?
a) Kamaraj
b) Sathyamoorthy
c) Rajagopalachari
d) Annadurai
e) Answer not known


a)  b) 
c)  d) 
e) 

102. Who is the kadaiyezhu vallal referred to in
this Siru Paanaatrupadai verse?
“Muttathu kodutha munaivilangu
thadakkai
Thuli mazahai pozhiyum vali thunju
nedunkottu
Nalimalai Naadan ..................”
a) Paari b) Kaari
c) Nalli d) Aai
e) Answer not known
“

 ”
   

a)  b)  c)  d) 
e) 

103. The third sangam at Madurai was founded
by
a) Ilamperuvazhuthi
b) Mudathirumaran
c) Muthukkudumi Peruvazhuthi
d) Nedunchezhiyan
e) Answer not known

a)  b) 
c) 
d)  e) 

104. The Ghadar Party was formed by Lala Har
Dayal in the year 1913 in
a) America b) Russia
c) Japan d) Germany

e) Answer not known

  



a)  b) 

c)  d) 

e) 

105. “Call that a gift to needy men thou dost

dispense,

All else is void of good, seeking for recom-

pense.”

The meaning of “seeking for recompense”

according to Thiruvalluvar is

a) To pity poor people

b) To follow virtuous path

c) To return the measured goods

borrowed from neighbours

d) Feeling of greatness

e) Answer not known





 “” 



a) 

b) 

c) 



d) 

e) 

106. Lok sabha speaker Om Birla has launched

the official mobile application of the

Parliament named _____. It will allow

Indians to access live proceedings of the

house, observe Union budget 2022 in live

mode.

a) PROOF APP

b) MANAS App

c) Digital Sandad App

d) E-Chhawani Portal App

e) Answer not known
   
 
 

 PART - B
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
 
  

a) (PROOF APP)
b) (MANAS App)
c) (Digital Sandad App)
d) 

(E-Chhawani Portal App)

e) 

107. If a person moving from pole to equator,
the centrifugal force acting on him
a) Increase
b) Decrease
c) Remains the same
d) Increase and then decrease
e) Answer not known



a) 
b) 
c) 
d) 
e) 

108. According to Hooke’s law
a) Stress  strain
b) Stress = E x strain

c) E = 
strain

stress

d) Both (a) and (b) are correct
e) Answer not known

a)  
b) E x

c) E = 




d) (a) (b) 
e) 

109. Periyorai Viyathulam Ilame;
Siriyorai igalthal athaninum Ilame;
What is the first line of this purananutru
padal?
a) Yandu Palavaka Naraiyila Aaguthal
b) Thenkadal Valagam Podumai Indri
c) Yadum Ure; Yaavarum Kelir

d) ie yena irathal ilinthandru; Athan yethir
e) Answer not known
“
”

a) 
b) 
c) 
d) 
e) 

110.How do the Chief Minister of a state and
his/her council of ministers can be re-
moved from office
1. Breakdown of constitutional

machinery in the state opined by the
Governor

2. If the Legislative Assembly of State
passes a no-confidence motion with
majority

3. If both the houses of Legislature of
state passes the no-confidence motion

4. Parliment can pass an emergency and
remove the Chief Minister and his
council of ministers.

Choose the exact ‘Codes’ given below
a) 1 and 2 b) 2 and 3
c) 3 and 4 d) 4 and 1
e) Answer not known

   

   


    




  
 


    
  
  



a)  b) 
c)  d) 
e) 
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111. The annual rate of growth in population of a
town is 10%. if is present population is
26,620, then the population 3 years ago was

   


____
a) 20,000 b) 19,680
c) 21,320 d) 13,320
e) Answer not known / 

112. A camp had provisions for 490 soldiers for
65 days. After 15 days, more soldiers ar-
rived and the remaining provisions lasted
for 35 days. How many soldiers joined the
camp?

 






a) 120 b) 490 c) 700 d) 210
e) Answer not known / 

113. P, Q and R have a total of 210 marbles. P
has one fourth of the total number of
marbles with Q and R. Q has three fourth
of the total number of marbles with P and
R. The number of marbles with R is
P, Q R
Q 
R 
   P P  R


Q 
R
a) 64 b) 68 c) 72 d) 78
e) Answer not known / 

114. Find the least number that is divisible by
the first ten natural numbers.


a) 2520 b) 360 c) 210 d) 1250
e) Answer not known / 

115. If HCF of two numbers is 8, then which of
the following can never be their LCM?

  
  


a) 24 b) 48 c) 56 d) 60
e) Answer not known / 

116. Which day would be observed as
Tamilnadu day?
a) June 13 b) July 18
c) April 14 d) May 07
e) Answer not known

a)  b) 

c)  d) 

e) 

117. Consider the following statements regard-
ing NRI’s Voting Right. Find out which is
wrong.
(i) NRIs can vote in parliamentary as

 well as assembly elections
(ii) Only EPIC issued NRIs can vote
(iii) Original passport should be shown at

the polling booth
(iv) NRIs can vote through postal bal lots
a) (i) and (ii) are wrong
b) (ii) and (iii) are wrong
c) (ii) and (iv) are wrong
d) (iv) only wrong
e) Answer not known



i) 

   


ii) 

   


iii)    



iv) 


a) (i) (ii) 
b) (ii) (iii) 
c) (ii) (iv) 
d) (iv) 
e) 
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118. Above the curie temperature, a magnetic
materials become
a) Ferro magnetic b) Paramagnetic
c) Dia magnetic d) Ferri magnetic
e) Answer not known
 



a)  b) 

c)  d) 

e) 

119. The people characterised by short stature,
dark chocolate brown skin, wooly hair, bul-
bous forehead, broad flat nose and slightly
protruding jaws belongs to _____race
a) Proto-Australoids
b) Negritos c) Mangaloid
d) Nordics e) Answer not known
    







a) 

b)  c) 

d)  e) 

120. Mawsynram, the place which receives
highest rainfall in the world is located in
_____ state of India.
a) Mizoram b) Nagaland
c) Tripura d) Meghalaya
e) Answer not known




a)  b) 

c)  d) 

e) 

121. Consider the following statement
1. Micro enterprise, where the invest-

ment in machinery does not exceed on
crore rupees

2. A small enterprise, where investment
in machinery does not exceed ten crore
rupees

3. A medium enterprise, wher investment
in machinery does not ex ceed fifty

crore rupees

4. A micro enterprise wher the invest-
ment in macheinery does not exceed
two crore rupees

From the above staement, which are
correct?
a) 1 and 4 b) 1 and 3
c) 1, 2 and 3 d) 3 and 4
e) Answer not known

   


 


 


 

   



a)  b) 
c)  d) 
e) 

122. The basis of life is
a) Amino acids b) Proteins
c) Lipoproteins d) Nucleic acids
e) Answer not known

a) 
b) 
c) 
d) 
e) 

123.Assertion (A) : NeGP vision of TamilNadu
is, “Making all government services acces
sible to the common man in his locality.
Reason (R) : Through common service de-
livery outlets and ensuring efficiency,
transparancy and reliability of such service
at affordable costs.
a) (A) is true but (R) is false
b) Both (A) and (R) are true and (R)

is not the correct explanation of (A)
c) Both (A) and (R) are true and R is the

correct explanation of A.
d) Both (A) and (R) are false
e) Answer not known
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(A) 
  


(R)

 

a) (A)(R) 
b) (A) (R)(R)

(A)
c) (A) (R)(R)

(A) 
d) (A) (R)
e) 

124. The work done by the conservative force
for a closed path is
a) always negative b) zero
c) always positive d) not defined
e) Answer not known


a) 
b) 
c) 
d) 
e) 

125.What helps to find the truth of things in
“When folly, cause of births, departs; and
soul can view
The truth of things, man’s dignity.’
tis_______ true.
Pirapennum pethamai Neenga
Sirapennum
Semborul Kanba ______.
a) Love b) Wisdom
c) Renunciation d) Penance
e) Answer not known

____
a)  b) 
c)  d) 
e) 

126. Who is the author of the book ‘How to
avoid a climate disaster the solution we
have and the breakthroughs we need
2021’

a) Billgates b) Aswini Bhatnagar
c) RC Ganjoo d) Sagarika Ghose
e) Answer not known
‘How to avoid a climate disaster the
solution we have and the breakthroughs
we need 2021’ 


a)  b) 

c) R.C. d) 

e) 

127. Why did the poverty eradication

programmes have limited success?

a) Deficiencies in wage employment

programme

b) In-built limitaions of the strategy
c) Unsatisfactory performance of

development administration

d) All the above
e) Answer not known





a) 

b) 

c) 

d) 

e) 

128. A sum becomes `4,500 after 2 years and

`6,750 after 4 years at compound inter-
est, then find the sum.

  

`
`

a) `4,000 b) `2,500
c) `3,000 d) `3,050
e) Answer not known / 

129. Find the simple interest on Rs. 5x2y2 for
4xy years at 7y% per annum.
Rs. 5x2y2  4xy 7y%


a) 3 47
x y

5
b) 2 37

x y
4

c) 3 34
x y

5
d) 2 44

x y
7

e) Answer not known / 



THOOTHUKUDI  99445 11344  |  TIRUNELVELI  98942 41422  |  RAMANATHAPURAM  75503 52916  |  MADURAI  98431 10566 19

130. Anita takes a loan of Rs.5,000 at 15% per
year as rate of interest. Find the interest
she has to pay at the end of two year.
 
     

a) 1,000 b) 1,300
c) 1,800 d) 1,500
e) Answer not known / 

131. The scientific name of asian elephant
a) Elephas axis
b) Elephas radiata
c) Elephas dometicus
d) Elephas maximus
e) Answer not known

a) 
b) 
c) 
d) 
e) 

132. Who introduces the Annual Financial State-
ment (Budget) in the Parliament?
a) Prime Minister
b) President
c) Finance Minister
d) Cabinet Secretary
e) Answer not known


a)  b) 
c)  d) 
e) 

133. Harihara I organised the country into
sthalas and nadus on the model of
a) Mughals b) Turks
c) kakatiyas d) Hoysalas
e) Answer not known

 

a)  b) 
c)  d) 
e) 

134. Name the Mughal ruler who was defeated
by the British East India Company at the
Battle of Buxar in 1764

a) Akbar b) Shah Jahan
c) Sha Alam II d) Aurangazeb
e) Answer not known
  

  



a)  b) 

c) 

d)  e) 

135. Which charge configuration produces a

uniform electric field?

a) Point charge

b) Uniformly charged infinite line

c) Uniformly charged infinite plane

d) Uniformly charged spherical shell

e) Answer not known





a) 

b) 

c) 

d) 

e) 

136. The AMRUT Mission in Tamil Nadu focuses

on

a) Provision of basic services

b) Milk Production

c) Rural transformation

d) Education

e) Answer not known

“   

” AMRUT



a) 

b) 

c) 

d) 

e) 

137. Human Development Index is constructed on

the basis of

I. Life expectancy at birth

II. Standard of living

III. Educational attainments

IV. Morbidity
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a) I, II and III are correct

b) II and III are correct

c) III and IV are correct

d) I, II, III and IV are correct

e) Answer not known





I. 

II. 

III. 

IV. 

a) I, II III  b) II III 

c) III IV  d) I, II, III IV 

e) 

138. The _________ principles are included in

the   Articles 38, 39, 41, 42 and 43 of In-

dian Constitution. Which are related to Di-

rective principles of State policy?

a) Gandhian b) Socialistic

c) Liberal d) General

e) Answer not known





  ________ 



a)  b) 

c)  d) 

e) 

139. Regarding the Indus Valley Civilization, con-

sider the following statement.

1. It was predominantly a secular civiliza-

tion and the religious element though

present did not dominate the scene.

2. During the period, Cotton was used for

manufacturing textiles in India.

Which of the statements given above is/

are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

e) Answer not known

    



   
  
   


   


a)  b) 
c)  d) 
e) 

140. Which of the following planet rotates from
East to West?
a) Earth b) Jupiter
c) Mars d) Venus
e) Answer not known
   

a)  b) 
c)  d) 
e) 

141. Which mission endorsed the plan for a
Central government with limited powers
and relatively strong provinces having con-
siderable degree of autonomy with all the
residuary powers?
a) 1946, Cabinet Mission
b) 1942, Cripps Mission
c) Constituent Assembly 1949
d) Simon Commission, 1928
e) Answer not known
     
 

a) 
b) 
c) 
d) 
e) 

142. “ECLGS” scheme is a
a) Emergency Credit Line Guarantee

Scheme
b) Emergency Credit and Law Guarantee

Scheme
c) Emergency Credit and Life Guarantee

Scheme
d) Emergency Credit Loan Guarantee

System

e) Answer not known
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“ECLGS” 

a) 

b) 


c)    


d) 

e) 

143. Consider the following statements:
I. CO

2
 is green house gas, it increases glo-

bal warming
II. CO

2
 absorbs infrared radiation

Which of the statements given above is/
are correct?
a) I only b) II only
c) I and II d) Neither I nor II
e) Answer not known

I. CO

2
 


II. CO

2
    



a) I  b) II 
c) I  II d) 
e) 

144. The sources of Non-Tax Revenue are
I. Earnings from public enterprises
II. Escheats
III. Sales tax
IV. Cess
From the above which are correct an-
swers?
a) II and III b) I and IV
c) I and II d) III and IV
e) Answer not known


I. 
II. 
III. 
IV. 

a) II  III b) I IV
c) I  II d) III IV
e) 

145. Which of the following statement/s is/are
true in respect of lightning?
(i) Heated air sends shockwaves
through the atmophere
(ii) There must be a mechanism
present to start rotation
a) (i) only b) (ii) only
c) Both (i) and (ii) d) None of the above

e) Answer not known

  



(i)    



(ii) 



a) (i) 

b) (ii) 

c) (i) (ii)

d) 

e) 

146. If 48% of 48 = 64% of z, then z = _____
z z 

_____

a) 64 b) 56 c) 42 d) 36
e) Answer not known / 

147. In an examination, a student scores 3
marks for every correct answer and loses

one mark for every wrong answer. If he an-

swers 80 questions in all and gets 160
marks find the number of questions he an-

swered wrongly?
 



   

 





a) 20 b) 40 c) 60 d) 10

e) Answer not known / 
148. How many 3 digit numbers are there which

are divisible by 9?

  


a) 99 b) 101 c) 90 d) 100
e) Answer not known / 
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149. In the series 
1 2 3

, ,
2 3 4

, .... what will be the 6th

term?

1 2 3
, ,

2 3 4
, .... 



a)
9

17
b)

7

13
c)

4

9
d)

6

7

e) Answer not known / 
150. The Hindus and Muslims as “Two eyes of a

beautiful bride of India” was described by
a) sir Syed Ahmad khan
b) M.A. Jinnah
c) Aga Khan
d) Syed Wazir Hussain
e) Answer not known
   
 

a) 
b) M.A.
c) 
d) 
e) 

151. Which one of the statement is not correct
regarding the Trichy Proclamation.
i) The Proclamation was published by

Marudu Pandiyar.
ii) It created a confidence among the

people
iii) It not revealed the national feelings.
iv) It condemned the political activities of

Carnatic Nawabs and Muhammad Ali
a) (i) only b) (ii) only
c) (iii) only d) (iv) only
e) Answer not known


i)  


ii)   


iii)   


iv)   

  


a) (i)  b) (ii) 

c) (iii) d) (iv) 

e) 

152. Who gave ‘Atchayapathra’ (Perenial Ves-

sel) to Aaputhiran?

a) Sindha Devi

b) Manimekala Deivam (God)

c) Kannaki

d) Madhavi

e) Answer not known



a)  b) 

c)  d) 

e) 

153. Theme of the world sustainable

development summit 2022

a) Towards a Resilient Planet : Ensuring a

sustainable and Equitable feature.

b) Redefining our common future : safe

and secure environment for all

c) Towards 2030 Goals: Making the

decade count

d) Attaining the 2030 Agenda : delivering

on our promise.

e) Answer not known





a)      





b)   

  



c)   



d)    



e) 

154. It is difficult to walk on ice bar because

a) Pressure is high

b) Friction is high c) Pressure is low

d) Friction is low e) Answer not known
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

a) 
b) 
c) 
d) 
e) 

155. Find below the text not written (Sang) by
Namazhvaar?
a) Thiruvirutham
b) Naanmugan Thiruvanthathi
c) Periya Thiruvanthathi
d) Thiruvaimozhi
e) Answer not known

a) 
b) 
c) 
d) 
e) 

156. Sir Martimer Wheeler discovered a Roman
factory at
a) Adichanallur b) Arikkamedu
c) kaliyur d) kanchi
e) Answer not known
 

a)  b) 
c)  d) 
e) 

157. Settled type of cultivation is also called as
a) Sedentary farming
b) Terrace farming
c) Intensive farming
d) Commercial farming
e) Answer not known
 ____ 

a) 
b) 
c) 
d) 
e) 

158. Hiuen-Tsang visited Kanchipuram during
the period of
a) Mahendra Varma I
b) Narshimha Varma I

c) Rajashimha I
d) Mahendra Varma II
e) Answer not known
   

a) 
b) 
c) I
d) 
e) 

159. Under which Article, the parliment has
power to give financial assistance to the
states?
a) Article 235 b) Article 245
c) Article 275 d) Article 265
e) Answer not known
   


a)  b) 
c)  d) 
e) 

160. Which of the following is used for artificial
rain?
a) Liquid oxygen
b) Liquid Hydrogen
c) Liquid carbon monoxide
d) Solid carbon dioxide
e) Answer not known


a) 
b) 
c) 
d) 
e) 

161. Which of the following is an example of
Zoonotic disease?
a) leprosy b) Diphtheria
c) Rabies d) Amoebiasis
e) Answer not known
   

a)  b) 
c)  d) 
e) 
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162. Under the Indian Citizenship Act 1955, one
can acquire Citizenship by
i) Birth ii) Descent
iii) Marriage iv) Registration
a) (i) only b) (ii) only
c) (i), (ii) and (iii) d) (i), (ii) and (iv)
e) Answer not known





a) (i) 
b) (ii) 
c) (i), (ii)  (iii)
d) (i), (ii)  (iv)
e) 

163. According to a certain code TRUST = 103,
LOVE = 58, then CARING is
TRUST = 103
, LOVE = 58CAR-
ING 
a) 46 b) 48 c) 57 d) 58
e) Answer not known / 

164. If MINJUR is coded as 423658 DATE is
coded as 1970 how can NADURAI be coded
MINJUR DATE 
   
NADURAI 
a) 3915892 b) 4915982
c) 4951982 d) 4989215
e) Answer not known / 

165. A works 3 times as fast as B and is able to
complete a task in 24 days less than the
days taken by B. Find the time in which
they can complete the work together
a) 12 days b) 36 days
c) 9 days d) 15 days
e) Answer not known
AB

B 
    


a)  b) 
c)  d) 
e) 

166. A and B together complete a project in 16
days while A alone completes the project
in 48 days. In how many days can B alone
completes the project.
a) 12 days b) 24 days
c) 30 days d) 32 days
e) Answer not known
A B
   A 
B
  

a)  b) 
c)  d) 
e) 

167. The National song of India ‘Vande
Mataram’ was a part of Bankimchandra’s
most famous Novel
a) Maila aanchal b) Pinijar
c) Anand math d) Poocho Parsai
e) Answer not known
‘’


a)  b) 
c)  d) 
e) 

168. Which of the following pair are correctly
matched.

Hills Region
1. Cardamom Hills - Coromandel Coast
2. Kaimur Hills - Konkan Coast
3. Mahadeo Hills - Central India
4. Mikir Hills - North-East India
a) 1 and 2 b) 2 and 3
c) 3 and 4 d) 2 and 4
e) Answer not known
  


 
1.   


2.   
3.   
4.   
a)  b) 
c)  d) 
e) 
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169. Assertion (A) : The one stop crisis centre

supports all women above 18 years of age

affected by violence.

Reason (R) : For girls below 18 years of age

institutions and authorities established

under Juvenile Justice Act and POCSO act,

2012 will support.

a) Both (A) and (R) are true and (R) is the

correct explanation of (A)

b) (A) is false and (R) is true

c) (A) is true and (R) is false

d) Both (A) and (R) are true and (R) is not

the correct explanation of (A)

e) Answer not known

 (A)      





 (R)  

    

    



a) A R R 

A 

b) A R 

c) A R 

d) A RRA



e) 

170. Name the Indian - American aerospace

engineer who led the NASA’s MARS 2020

MISSION”

a) N. Valarmathi b) Swati Mohan

c) Sunita Williams d) Devaki

e) Answer not known

 

   



a) N. b) 

c)  d) 

e) 

171. When the full moon is at the closest point

(perigee) of its orbit to Earth it looks bigger

and brighter, when we see it farthest point

(apogee) from earth is called

a) Lunar Eclipse b) Blood Moon
c) Blue Moon d) Super Moon
e) Answer not known


    
 

a)  b) 
c)  d) 
e) 

172. Asbestosis is a chronic inflammatory con-
dition that affects the tissue of
a) Brain b) Heart
c) Lungs d) Kidney
e) Answer not known


a)  b) 
c)  d) 
e) 

173. “Dravida Nadu” was the magazine of which
party?
a) Dravida Kazhagam
b) Dravida Munettra Kazhagam
c) Marumalarchi Dravida Munettra

Kazhagam
d) Justice party
e) Answer not known
“”
a) 
b) 
c) 
d) 
e) 

174. Match the following :
A) Swedeshamitran 1. Young Radicals
B) Gita 2. De factor Editor
C) Bala Bharat 3. Tamil Translation
D) The India 4. Sub Editor

A)   
B)   
C)   
D)   

A B C D A B C D
a) 4 1 3 2 b) 4 3 1 2
c) 3 2 1 4 d) 3 1 4 2
e) Answer not known/
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175. Namakkal Kavinger’s song “Without sword
without blood one war has come” was first
sung during
a) Non-Co-operation Movement
b) Vedaranya Salt Satyagraha
c) Gandhi’s visit to Madurai in 1936
d) Quit India Movement
e) Answer not known
 ‘
’ 

a) 
b) 
c) 


d) 
e) 

176. If the radius of the base of a cone is tripled
and the height is doubled then the volume
is
a) made 6 times b) made 18 times
c) made 12 times d) unchanged
e) Answer not known



a)  b) 
c)  d) 
e) 

177. The ratio of expenditure and savings in a
family is 5:3. If the expenditure is `3,500.
What is the savings?

  

a) 1,400 b) 2,100
c) 2,800 d) 3,000
e) Answer not known / 

178. The product of two number is 3672 and
their LCM and HCF are 612 and 6 respec-
tively. If one of the numbers is 36, then
find the other number?




a) 96 b) 102 c) 112 d) 124
e) Answer not known / 

179. The greastest number that will divide 62,

78 and 109 leaving remainders 2,3 and 4

respectively is





a) 12 b) 14 c) 15 d) 16

e) Answer not known / 

180. Who is the winner of the prestigious world

press photo award 2022 in the long term

story category?

a) Dhanalakshmi

b) Arachendhran

c) Sanjeev Kavirayar

d) R. Senthil Kumaran

e) Answer not known







a)  b) 

c)  d) 

e) 

181. The mineral having transparency and hard-

ness

a) gold b) silver

c) copper d) diamond

e) Answer not known





a)  b) 

c)  d) 

e) 

182. 10% reservation for EWS (Economically

weaker Sections) gurantees by which

Constitutional Amendment

a) 100 th b) 103 rd

c) 27 th d) 75 th

e) Answer not known



   



a)  b) 

c)  d) 

e) 
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183. The rays markedly increasing Shelf - life of
fresh fruits are

a) X rays b) Gamma rays

c) Beta rays d) Alpha rays

e) Answer not known

   
  


a) X  b) 

c)  d) 

e) 

184. The reason for expressing audio power am-
plification in dB unit is

a) our ear response

b) easy calculation

c) no other unit

d) to honour Graham Bel

e) Answer not known




a) 

b) 

c) 

d) 

e) 

185. Under Maratha administration, the
Amatya or Majumder was appointed
i) He was responsible for the account of

Income and  Expenditure of the state.
ii) He was responsible for the Personal

safety of the king and supervise his
daily routine work.

iii) He was the foreign minister.
iv) His duty was to see that all royal letters.
Which of the above statement is correct?
a) (i) b) (ii)
c) (iii) d) (iv)
e) Answer not known


i) 


ii)    

  


iii)   


iv) 



a) (i) b) (ii)
c) (iii) d) (iv)
e) 

186. Identify the false statement about the
Central Bureau of Investigation.
a) Is a statutory body.
b) Is not a statutory body.
c) Derives its powers from Delhi special

Police Establishment Act, 1946.
d) Is the main investigating agency of the

Central Government
e) Answer not known
  

a) 
b) 
c) 


d) 


e) 

187. Who is the first woman dubashi in
TamilNadu Assembly?
a) Rajalakshmi
b) Girija Vaiythiyanathan
c) Chandra Kala
d) Leila seth
e) Answer not known

a) 
b) 
c) 
d) 

e) 

188. The functions of Reserve Bank of India are:
1. Issue of currency
2. Banker of Government
3. Banker’s Bank
4. Exchange Management and Control
a) 1 only b) 2 only
c) 2 and 4 only d) 1, 2, 3 and 4
e) Answer not known
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   



 

 

 

 

a)  b) 

c) 

d)  e) 

189. Identify the group, those who were called

themselves as ‘Varnashrama dharmangal

anupalitha’ in the history of Tamil Nadu?

a) Pallavas

b) Pandyas

c) Nayaks

d) Tondaimans of Pudukkottai

e) Answer not known

  ‘ 

‘   



a) 

b) 

c) 

d) 

e) 

190. Consider the following statement.

Parson valley is associated with

1) Hydel energy

2) Solar energy

3) Nuclear energy

4) Wind energy

Above which one is correct?





 

 

 

 



a) (2), (3) b) (1)

c) (1), (4) d) (4)

e) Answer not known / 

191. _____ is a cash award given to Hindu Adi

Dravidar students of Tamil Nadu (one boy

and girl) who secure first rank in each

district in plus 2 public examinations.
a) Thiruvalluvar Award
b) Ambedkar Award
c) Annal Gandhi Memorial Award
d) Periyar Award
e) Answer not known





a) 
b) 
c) 
d) 
e) 

192. In a class there are six students toppers
namely S, T, U, D, E, N. In how many differ-
ent ways can a leader and an assistant
leader be selected?
 S, T, U, D, E, N 
   
  
   


a) 6 b) 36 c) 30 d) 12
e) Answer not known / 

193. If the standard deviation of x, y, z is p then
the standard deviation of 3x + 5, 3y + 5,
3z + 5 is
x, y, z p
3x + 5, 3y + 5, 3z+ 5 

a) 3p + 5 b) 3p
c) p + 5 d) 9p + 15
e) Answer not known / 

194. 12 cows can graze a field for 10 days. 20
cows can graze the same field for ______
days.
      

____  
a) 18 b) 15 c) 8 d) 6
e) Answer not known / 



THOOTHUKUDI  99445 11344  |  TIRUNELVELI  98942 41422  |  RAMANATHAPURAM  75503 52916  |  MADURAI  98431 10566 29

195. A cube has a total surface Area of 384
Sq.cm. Find its volume.
a) 512 cm3 b) 521 cm3

c) 510 cm3 d) 500 cm3

e) Answer not known
    

a)  b) 
c)  d) 
e) 

196. The value of a motor cycle 2 years ago was
`70,000. It depreciates at the rate of 4%
p.a. Find its present value.
     
`


a) `69,904 b) `64,512
c) `67,200 d) `64,400
e) Answer not known / 

197. Who became the first para - athlete to
receive the Padma Bhushan award?
a) Devendra Jhajharia
b) Avani Lekhara
c) Mariyappan Thangavelu
d) Krishna Nagar
e) Answer not known


a) 
b) 
c) 
d) 

e) 

198. Which of the following soil is very rich in
Humus?
a) Laterite soil
b) Forest and mountains soil
c) Marshy soil
d) Alluvial soil
e) Answer not known


a) 
b) 
c) 
d) 
e) 

199. Match the following:
a) R.V.S. Perisastri 1. Former Chief Election

Commision

b) A.N. Roy 2. Former Chief Justice

of India

c) Charan Singh 3. Former Prime

Minister of India

d) B.N. Jha 4. Former chairaman of

UPSC

A  B C D A B C D
a) 1   2    3 4 b) 2 4 1 3
c) 3  2 4 1 d) 4 3 1 2
e) Answer not known

a) R.V.S.   



b) A.N.  



c)   



d) B.N.  UPSC



A  B C D A B C D

a) 1    2   3     4 b) 2     4   1     3
c)  3   2   4     1           d) 4     3   1     2
e) 

200. To avail benefit under Sathiyavani Muthu
Ammaiyar Ninaivu free supply of sewing
machine are
1) No age limit
2) No income limit
3) Destitute window
4) Beneficiary should have female child
Among these, which are correct?
a) (1) and (2) b) (3)
c) (3) and (4) d) (4)
e) Answer not known


 
 
 
 



a)  b) 
c)  d) 
e) 
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